Deaf Awareness
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Please read the following instructions carefully.
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e Place a cross in the box provided opposite the alternatives ‘a’, ‘b’, ‘c’, or ‘d’
e Show your answer like this
e Make sure you only mark one answer in each question

e Allow a few minutes at the end of the paper to check your work
e The pass mark is 65% or 26/40
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1. A hard of hearing person usually has: 4. Roughly how many deaf people are there in the

a|never heard speech a|9 thousand

b | lost all their hearing as a child b |9 million

¢ |become totally deaf as an adult ¢ | 950 thousand

d | some useful hearing d |9 billion

2. The sensation of ringing or buzzing in the ears or 5. A mild hearing loss is a loss of:

head is called:

a | meningitis a|41-55dB

b [typhoid b[91 - 120dB

c [tinnitus c|56 —90dB

d |measles d|26 —40dB

3. A severe hearing loss is a loss of: 6. A deafened person may feel isolated because:
a|56 —90dB a |they cannot read

b|91 - 100dB b |friends/family may find communication difficult
c|26 —40dB c [they cannot speak

d|41-55dB d [they wear hearing aids




7. Cued speech is:

10. Which would help a lip-reader:

a |used with speech to clarify spoken sounds

a |shouting as loud as possible

b |a system using pictures to represent words

b | speaking very slowly

c | signs used with symbols

¢ | not using voice

d |a language with its own grammar and syntax

d | speaking clearly and a little slower

8. You ask a deaf friend which drink they want to or-

der. If they choose the easiest to lip-read, which
would it be?

11. Which pairs of words is the hardest to distinguish

from each other?

a|tea a | chair - fall
b|ale b |beer - mere
c | coffee c |drop - flick
d|cocoa d |tent - vent

9. What percentage of speech can a competent lip-

reader follow accurately?

12. When talking to a lip-reader, the light should be:

al|10% a | shining on your face

b [30% b | behind you

c[80% c | kept to a minimum

d |100% d | shining in the lip-reader’s face
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